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Calcula y comprueba los siguientes límites: 
 

1. 

2 5 1

3 5x

x x

x
Lim
→+

− + −
= −

+
 

2.  ( )2 22 4 3 1
x

x xLim
→+

+ − − = −  

3.   

2

2

2 1

33 2x

x x

x
Lim
→+

+
=

+
 

4.   Si tenemos la función    
( )

2

2

2 1 0
( )

1 2 0

x x si x
f x

x si x

− + − 
= 

− + 

 calcula  

5.  
0

( )
x

f x no existeLim
→

=     y    
3

( ) 6
x

f xLim
→

=  

6.  

2

2

9 5

2 1 3x

x

x
Lim

→−

−
=

+
 

7.  

2

2

4
2

2x

x

x
Lim

→

−
=

−
 

8.  

3 2

2
0

3
1

x

x x x

x x
Lim

→

− +
=

+
 

9.  
1

14

1x

x
no existe

x
Lim

→−

+
=

+
 

10.    
2

2
1

4 4

2 1x

x x
no existe

x x
Lim

→−

+
=

+ +
 

11. 

24 2
2 2 3

2

2
0

3 1

x

x

x

x

x
Lim

+

+

→+

 
= 

+ 
 

 
 
 
 
 

http://www.immat.es/

